[ Efficiency vs vertpos |
- 05

§0.45
2 0.4
0.35]
0.3
0.25
0.2H
0.15}--
0.1
0.05

efficiency

1.0

£
B ERRHINES
. - F 4 4
+ 5
0.95

1072 107 1

Ratio

xS
o

s e -

R R AR LR N ARl RN AR A RARRN RARRR RRRLN LRRRN LRLR

10 0?
TP vertr (cr%)

=== DQM MKET_TTorgmal
M_mkFit_TTNEW50

—— DQM_|
Efficiend — DQM_mkFit_TTNEW50-chi2
—— DQ

M_mkFit TTNEW50-dpdq
~ 05

L H A S S S

o F : : : : ,

2 04 b
> F . . . . N

LC) F H . H N .
R S S S S
3] E : : : :

£ 0.3F bbb
5] E : : : :

N -
0.2k PRURTRY s U ?w.: -------- beeeanns
E : \ : : :
0.15F+-c++beeeeee W’ ------ oo *ﬁ ----- SRR
1 S FHRPL NS . M N

0.0 Hﬁ.‘, ........ M

Vel
;nl

Ratio

s
i

:i
==
%

[y

o

13
oS
S

-20 —10 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
>

Q. 0.45
IS

5 04
20.35

&
c 0.3
)
Q

D
T T TTTT

05215510 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


